Q.P. Code - 13613

Sixth Semester B.Com. Degree Examination, September 2020
{(Won-CBCS — Revised New Scheme)
Commerce
ADVANCED FINANCIAL MANAGEMENT
Time ; 3 Hours] [Max. Marks : 80

Instructions to Candidates : Answer should be written either in English or in Kannada.

SECTION - A/ 9w -

| Answer any TEN of the following. Each question carries 2 marks : (10 x 2 = 20)
& 3YNE aindmedde B3 e‘a_i',EEiﬁ@ﬁ eu3bA T3 %ﬂqﬂ 2 woznds

1. (a) Definefinancial management. g, Sic'> .oox Coilzos oF ATtS

ol 3 Science » Conmnng:ca far woman
s g LisKARY, TUMKUR,

(b) What is meant by networking capital?
NS F0LF A0S WoBTY H0BTERI7

(c) What is capital budgeting?
woB=RY Jword I3, Houdeds?

(d) What is profit maximisation?
eI d&eE0n Sotidedy?

(e) What is capital structure?
woEd Oud aoaded)?

(i Give the meaning of operating cycle.
ToCdRFuios thaor u3h oodded?

(g} Write any two advantages of net present value method.
EJE:F;J SR8 W JpeRd AU eEiEeonveFia)?

(h) What do you mean by intemational financial management?
©ogUTed ol BHTR) ASFBE J0Bdesd?

{if What is investment decision?
BRABTOD SoRFRE HondeRo?
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(jj  Write any two assumptions of Walter model under dividend decision,

R0l NERETEO Jeuntn SRderfddos HURY meBnYE.) 2B0h,

(k) Give the meaning of dividend policy.
eRiTRoBn fed comdepa?

(Il  Present value of cash in flow is Rs. 6,00,000 and present value of cash out
flow is Rs. 5,00,000. Calculate profitability index.

Srich Y08 BRI SPe; Sa. 6,00,000 Ry S BeT BDIW B3 INY,
G, 5,00,000 €208 61,0831, Bomd HBOND.

SECTION - B/awert - ©

Answer any THREE of the following questions. Each question carries 5 marks :
(3 x5 = 15)

g¢h admamende St SFnen euddh. Z3 S35 wowne

2. Write any five factors affecting capital structure. Explain.

wordaey dudob Soed Jes Deotba oiRmiRntse 200 meirwa&% i Tnio 8

3. Write the assumptions of MM Hypothesis under dividend deeision.
en708 A ond MMUST sufobhdtus pesnis'sy, wood.

4. A company has EBIT Rs. 3,00,000 of has Rs. 800,000, 8% debentures, the
equity capitalisation rate is 10%, What is the value of the company under?

(a) Net income approach

(b) Net operating income approach

wody domd@od EBITein de. 3,00,000, 90d wodad tudody de 88 modsnd
da. 8,00,000 3082 g58E3 wordasy wo 10% FodDod) SPeE[) Fors HRoD.

(a) =% wovodd AtyR03 BRNE
(b) Q=¢ se0dnF2i0m Mieod Sprie

5. Explain any five factors influencing financial planning.

®oein olecsizoddol Soed Tyed Dedd awo euﬁrﬂ*ﬁ.ﬁ Sy
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XYZ Co., considering a new project for which investment is Rs. 3,00.000 cash
inflows are as follows :

Year 3 1 2 3 4 5
Cash inflows : 1,60,000 1,50,000 1,20,000 1,00,000 75,000
Discount factor at 10% : 0.809 0.826 0.751 0.683 0.621

Calculate NPV for the project at 10% discount rate.

XYZ vozifod womd 867 olecwdobd wodmedEmy dedimes mbefRgd. wormed
dw. 3,00,000 shcodd. srch we 80 & $9rt dauennd

Sdrrids: 1 2 3 4 5

arim) wd 80 de. 1,60,000 1,50,000 1,20,000 1,00,000 75,000

ge. 100 BEdoly Bow @08 ! 0.909 0.826 0.751 0.683 0.621

Ay SR8 S99, (Fe. 100 BE% 0 WUnd) som) LR,

SECTION - C/dgmn - 2
Answer any THREE of the following. Each question carries 15 marks :
(3 x 15 = 45)
EYNE cdnEteute Suet B8rvn eudda. o8 G311 15 wvosridy !

What is working capital? Explain the various determinants of working capital.
Fo0dF U083 wodTeY HouTero? BwuE), fAreroind 295 uusmmimaa.

The following information is available in respect of a firm :
Sree Sicaan Anga Cﬂil":f]';- af Arns
Scienos O Jommerce t2r wemen

Earnings per share - Rs. 10 CITARY, TURIKUR.

Assumed rate of return on investments — (1) 30% (2) 20% (3) 10%

Capitalisation rate — 20%

Show the affect of dividend policy on market value of shares applying Walter’s
formula when dividend pay out ratio is :

(a] 20% (b} 40% (c} 60% (df 80%.
w0 ool DS $YE0E0aS |

woBmmYestnn oo - de 20

oGy Fedn ¥ - Oe. 10

B00% SordE womew) J3zw - (1) 30% (2) 20% (3) 10%

RpR08 TDdodh viEms DT NS By dctond Doedist, SRen Hoedd
eRyrRo8 dedaba) Soedh

(a) 20% b) 40% () 60% (d 80%.



e -
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9. Determine the working capital from the following particulars under current
assets and liability method :

{a) Production estimated to be 40,000 units.
(b) Various elements of cost
Materials — 40%
Wages - 30%
Overheads - 10%
(c) Materials are expected to remain in stores for average period of 2 months.
(d] Each unit in production will be in process for 1 month.
(e) Finished goods remain in warchouse for 2 months.
(i Customers are allowed 1% months credit.
(g) Credit by suppliers of materials is 1 month.
(h) Selling price per unit will be Rs. 200.
{ij Add 10% for contingencies.
(il  Assume that sales and production follow a consistent pattern.
8 gYRENPoT Fa0IRF 1308 WoESIVER) For) bBOD (B0 &3, B0 wWaRwRD ATREAD)

(a) evsEd 40,000 rivnsb.
(b) 235 Sy wosrids

maon e — 40%

gad — 30%

ﬁ)‘“ﬂj{,‘ 10%
(c) xR 2 Sorish TamED.
(d) B3P 1 Sorieh eumpm I8 chobAtH3H.
()  a@SRneb 2 orieh GamAD.
() me@Edrt 1% dorish me AcEwantZd.
(g) ZOwTNETACG) 1 orie) UGS DedITT.
(h) Swoks W¥e B3 Priss, o, 200.
i) =ogzpeods d‘aﬁ‘iﬂrﬁ 10%5&:&3?&%.

() Seoets o3y suseps A0SR S0 e,
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10. Karthik Ltd, is considering the purchase of a New Machine. There are two
alternative models A and B. Prepare a statement of profitability showing the pay
back period from the following information :

A B

Cost of Machine (Rs)) 4.00,000 7,550,000
Estimated life in years 10 years 15 years
Estimated savings in scrap p.a. (Rs)) 48,000 76,000
Additional cost of supervision p.a. (Rs.) 57,600 76,800
Additional cost of maintenance p.a. (Rs.) 33,600 52,800
Cost of indirect material p.a. (Rs.) 30,000 38,000
Estimated savings in wages :

Workers note required 150 200

Wages per workers p.a. (Rs.) 3,000 3,000

‘_:,mi-_:t .;.;"'_J”Irir'.".,.-"l‘_.]_- :l-h..'g;‘ '-f Aﬂﬁ
e Scienue & L _-ﬁ.m_.,lca ter women
e e LialARrY, UMK UR.

528¢8 Bomdab wom) EAd odbodSE) MOBTL IFBPEANG) FUB wich GFTSHY
OUATIZT. A Ho8) B 20w 0bogiied NS Snbsones de 15 oSHohTY, VROl

Assume tax rate at 50%.

Car7e08 BE3pdoa AT DAY :

A B
obozs Hd (dn.) 4,00,000  7,50,000
@omet o3 E teEl 10 T@Fniey 15 S@erish
B0 Sﬂﬁﬁa mdufnaad AT euesacd (T.) 48,000 76,000
AT B0 Boedos B (00.) 57,600 76,800
HAFT B230 Ao Fud (0.) 33,600 52,800
AFE Hlecy madnny du (0R.) 30,000 38,000
309058 AT BudFIaD |

emeris FOsMmOTD 150 200
w.2) BOZTRUNN Jo4F 8 509 (OR.) 3,000 3,000

3011 @0 S0% oon g,
odms Dbﬂ:gailﬁgl ﬂﬂ%{f &0 2R3,
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11. Write a short note on ;
(a) IRR
(b} International financial management
() Wealth maximisation

RogTaf wiaddd
(a) ®SMD%Eck
(b) ®ostedrad BnmR ASFHS

(c) Romdn ridacsTn




